a=-1,b=2% 9, -3a+6b-3(b+2a) & Atstolzk.

—3a + 6b — 3(b + 2a)
= -3a+ 6b—-3b—-6a=-9a+ 3b
AL 5 —9x (-1)+3x2=9+6=15




ofe] o] 17} h Q) Aberel 2] Hol2

el gel7ta, 7tb, o

st & o, pE ofE EAfe) TR Ao =2 YERYH?

@ b=2s—h @ b=2s+ah Ob———a
2s 2s

h + bh
s:(a+b)xh+2:a —;
25 = ah + bh
bh = 2s — ah

2s —ah  2s
b— h —E—a




Nl

filo
o>
o
ot
o
Q

|

—
S
[

[\
o,
;Fé

= 15ab + 10b
=15Xx1x2+10x%x2
=50




4.  (x+3)(x-2)+ (x=3)(x+5) & Zts] 5}H?

D x2+3x-21 @ x2+6x-15 ® 2x2+3x-15

(@)2x2+3x—21 ® 2x24+6x-6

(x+3)(x—2)+ (x-3)(x+5)
=x24+x-6+x2+2x-15
=2x%+3x-21




5. y=4x-3<4 W, —4x% + 2xy — y= x°f Bt A or Yyt o,
Ax* + Bx+CO|H A+ B+ C9| 2?7

@ -11 @—3 ® 3 @ 11 ® 13

B ‘

y=4x-3& A —4x% + 2xy — yoll H4SHH
—4x% + 2x(4x - 3) —4x + 3

= —4x® +8x2 - 6x—4x+3
=4x%>-10x+ 3
~A+B+C=44+(-10)+3=-3




6. 2x-Ty+1=x-5y Lo, 2x+3y+4E5yof T2z L}elY
ofet,
> CF

2x-Ty+1=x-5y & x o ®sto] A5t x =2y - 10|t}
—2x+3y+4=-22y-1)+3y+4=-y+6




a=2b 2 W, th=& F-stefzh

3a® + 2b? +a—|—b
ab a—-b

@® -5 @0 ® 5 @ 4 ()10

a=2b 0|82 Fof A tjelst

3a> +2b* a+b 120> +2b*  3b
b Ta-p-  ap TR T3=10




x=1,y=-1% o, (20x%y3 - 10x%y) + 5x?y —

3xy? + 6x%y4 o] 7
3xy?

=4xy?> -2 -1-2x?
=2xy2-3

=2-3

=-1

(20x%y3 — 10x%y) + 5x?y —

3xy? + 6x%y*

3xy?




4(x+y) = 3(2x + 3y)
4x + 4y = 6x+ 9y, —Hy = 2x
2

Ly= —gx




10. x+y=4, xy=-2L 0, x* +y? o] gr2?

® 5 @ 10

® 15 @20

® 25

X +y% = (x+y)? - 2xy
=42 -2x(-2)
=16+4=20




